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n 5 x 3 = 2) 3 x 12 =
3) 11 X 6 = 49 1 X 9 =
5 6 X 7 = 6) 8 X 4 =
7 7 X 6 =
9 12 X /] =
1m 2 X /] =
13) 8 X 9 =
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19 12 X 8 =
21) O X 11 = 22) 5 X 4 =
23) 4 x 9 = 24) ] X 7 =
25 6 X 8 =
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Name: Score :

Answer Key
- (Multiplication DriID 2 PO
n 5 x 3 = 15 22 3 x 12 = 36
3) 11 X 6 = 66 49 1 X 9 = 9
5 6 X 7 = 42 6) 8 X 4 = 32
7 7 X 6 = 60
9 12 X /] = 28
1m 2 X /] = 77
13) 8 X 9 = 63
‘\;ofamember?
Please sign up o _
15 6 X i complete 8 = 40
access,
17) 3 X 3 = 3
www.mathworksheets4kids.com
19 12 X 8 = 64
21) 9 X 11 = 99 220 5 x 4 = 20
23) 4 x 9 = 36 20 7 X 7 = 49
25) 6 X 8 = 48
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